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-JIs102 (58 2) 931,8002 * 12« 128 11,182
a0l 2 185, 155
ox24Y 2,221,852,0009!%1/12 185, 155
mE= 638,883
OAzZte 224y 321,675
-Houg 8,3122 %852 «10A| 2t 12 84,783
-=E 8,312 %95 25 A| 2+ % 12 236,892
Op/EES= 68,280
- B 40,0008 73 « 12 35,040
- JIEHE 20,0002 * 1342 122 32,160
- Jtarz 30,0002 *32 * 128 1,080
OXtH st B8 xagt 44,909
- E5HM 51,9902 24 % 43 4,992
- DM 433,880 2 x23% 43 39,917
OFF=Fa= ¥\ = 86,760
- 250 & 130,000 * 15 « 12 23,400
- 2001425 018F 110,000 19 * 122 25,080
- 150420 018F 80,0002 23 * 122 22,080
- 1001 &H5E 018 60,000 %102« 122 7,200
- 540[AH10E 0] Bt 50,0008 * 152 122 9,000
OK0EE4+Y 500,000 * 12« 122 6,000
Ofez2esy 40,0002 x2% « 128 960
ORHBRALY 50,0002 32 122 1,800
onzRA+Y 34,924
-4202 2,961,30091 %4 . 8%+52 « 12 8,529
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SN ClSARH SREgR
Mo HHSAPHI (S AR ) (JIEHIIE)
(0]

= J;.—‘i_—%tll (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
-58U% 2,485,400 *4.8%+8H « 122 11,453
-8R 1,907,100& »4.8%+3H x 12& 3,296
-Jls628R  2,328,1003 #4.8%+5H « 12 6,705
-JIs7TSUS 1,855,600 *4.8%*3E x12& 3,207
-J1s82UHR  1,505,000& +4.8%+2H 12 1,734
O&clge=¢ 3,235,600 »9%x 1H x 12 3,495
OS¢ 70,080
-SFNesE 70,080
OB AR (32014)
120,000& 18 =123 1,440
- QIBIALR I (42)
100,000 x9E x12& 10,800
- QBIALR I (52)
80,000 x10E *x12& 9,600
- QI3 ARII 7 (62)
60,000& x22H x12& 15,840
- 9B AFR IR (7= 0l 6t)
50,0002 x54E x12& 32,400
IESELE= ] 130,000 »89H *x12& 138,840
IME=ul 132,720
L= 140,000 108« 123 16,800
O6~75 130,000& +54F 123 84,240
O8=0lat 120,000& 22 «12& 31,680
OEE = 0tyl 2,221,852,000& *1/12+60%*22] 222,186
CIOFAI X & I
2,221,852,000% *1/12%16. 7%+ 12& 371,050
OS2 & 239,298,000% *1/30 11 87,743
02 JIetR 2= 503,522 516,151 N12,629
Od=2 324,835
og= 269,930
-Jt=2 50,637,000& *4& 202,548
-U= 33,690, 9603 2 67,382
ONZtel2R4g(HAuR)
L3123 6B+ 10A1 2H+ 123 5,985
OEx4 2,640
- X 40,000 x3E *12& 1,440
- JIEFJES 20,000 x5 *12& 1,200
O EHIExH 2,152
- =M 51,9902 «2 2 43| 416
-ussY 433,880 » 18 #43| 1,736
O&g 22l 22,920
= 400,000 x4 »12E 19,200
-U= 155,000& »2H 12& 3,720
ol g =l 50,0003 «6EH *12& 3,600
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SN

OIS ALR H

=0
sERgoa

5
(28| AL

ZFH: #F2AZH X)(D1EHDIE})
chel: Q2 H| (el &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

O M ZAH| 130,000& x6H «12& 9,360
OHII 2 4| 22,494 1703 1/30% 11 8,248
OHAZZ 178,687
o=3 2,107,000 x4H 123 101,136
OF =y 101, 136,0002 *1/12%100% 8,428
O¥2Z=Eotata 5,160
- 2540l & 130,000& x1H «12& 1,560
- 203 01 &t25E 0] BF 110,000 x2H «12& 2,640
- 158014020 0l &t 80,0003 x1E*12& 960

ONAQ2RL(Ho=)
6,3423 x4G x10A| 2Hx12& 3,045
ONEsxg 4,080
- B At 40,0003 x4 ZH +12& 1,920
- JIEFHE 20,0003 x99 x12& 2,160
OXNUEHEHIBEXY 6,943
- SSHM 433,8803 »4H x4 3| 6,943
OFIE=PNE =, 360
- X 30,0003 x1E*12& 360
Oz 2= 105,000 x4 123 5,040
Oouerg sl 50,0003 x4 ZH «12& 2,400
O M ZAH| 130,000& x4 H «12& 6,240
OunsE2xH| 120,000 x4 H « 122 5,760
OZEE St 101,136, 000& *1/12%60%*23| 10,114

OJHAIXI &bl
101,136,000& *1/12%16. 7%+ 12& 16,890
OHII 2 4| 8,428,000 x1/30+11 3,091
03 RIlAHA2 2 NHE = 47,658 54,529 A6,871

O At2el & 10,314
OJl=s 38,8503 *1H 125 4,857
O&0= 4,857,000% *1/12%400% 1,619
O=Fs=2¢ 38,8503 x1H 26 1,011
OH X< 38,8503 x1¥ x12 467
Ousg2=| 60,0003 »1H 6 360
OgZE SOt 150,000 *1G *13] 150
Ol =l 100,000& =1 100
O5UAlel 2 1,750
OAtReI=¢ 37,344
(OPIE-3=1 38,8503 x2H 249 19,348
O&N3 19,348,000 *1/12*400% 6,450
O=F=¢ 38,8503 x2H x5 4,041
OHxt=& 38,8503 x2H 24 1,865
Ouns2 x| 60,0003 x2H +12& 1,440
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MNP EREE S
HY2AZHI(2ASIALRH ) (IIEH/IIE
el 2| P
M- B SRl(310) - MISAR - A= Aol e =2
OZFE S It 150,000 *2H 23| 600
O5UALSI 2 3,600
204 MR AH| 203,400 206,640 A3,240
02 Mg EXH| 203,400 206,640 A3,240
(122 650,000& x1E «12& 7,800
L4z 400,000& x99 x12& 43,200
53 250,000& *10H =123 30,000
0e=2(0ls63) 155,000 *22F x12& 40,920
O7201s73) 140,000& *32Z x 123 53,760
008~93(J1=8~92) 105,000 *22ZF x 123 27,720
303 ZA&2 82,414 70,057 12,357
02 d4ta03 82,414 70,057 12,357
I1sH 72,000
OFZE 10,414
|23l 588,866 549,986 38,880
Jle=3| 588, 866 549,986 38,880
201 LBt 487,746 448,586 39,160
01 AFR 22l 109,950 94,950 15,000
O Et==Z | 14,200
Oz ga=AsEETY 4,200
OH2HIFEUS 10,000
O2d=¢ 29,750
o= 29,750
]Il =l 6,000
OFJAZHFZR=ELCst 200,000 x35*4H 2,400
OEIRMZRNEA=E 200,000& x5H 1,000
OQAFBAUNAZRR=E(5,0t7) 1,400
OMBALRYHFANYNRAZRS(S,015)
300,000& »2H x2H 1,200
N = 60,000
OXELEHHILRS 60,000
02 22234l 377,796 353,636 24,160
Oss2a3LHAl 152,528
OZ T S&oltHa S M3 ] 1,000
OXsxEg = (600) 3,000
OX-S XAl (6LH) 3,000
Ot AER 4,800
OoAoIsgs=A 4,800
ONIINEZ 48,000
OFIZ(CIHIAIEZ ,01SH3S) 60,000
O&I|tEdE = =2a) 3,600
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SA: o
D A2 I (ASIMRH)(DIEHDIE)

SIBIMNEXN SEEES

Sl Jl2dl oz
SA BB CR(SH) - NRAY - A S Aol e =2

Odst2e|dls2 2,400
OUHUY S HAIE= 21,928
A=l 91,000
OArR 4 Hetd| 91,000
DA & EHIR XL 74,268
OAMNREIIZEYI 10,000
OHdE= Xl 30,928
OBdeAa 3,000
O A3 SJAIAE XY 2,888
OZEAAEKRXIL| 14,936
OZERZERIY 4,404
OZHelsa LR Xl 6,000
Os&IISAE=HI 2,112
PN Fals ] 60,000
OXteks ey (6CH) 60,000

203 HRF&H| 55,520 51,600 3,920

01 JI22FHRF&H| 24,200 24,200 0
OMEMHE 11,000
=g=gr, 6,600,000& *2H 13,200

02 HANMMPRFEHI 8,160 7,840 320
(1100 Dt X 80,000 97 7,760
58 (8 8@) 80,000& x5H 400

04 BEASIHFFEHI 23,160 19,560 3,600
[J31H 0l &f 350,000& 1 2 A +12& 4,200
1300l ot 350,000 12 A+ 12& 4,200
(115 0l ot 250,000 x2 2 A+ 12& 6,000
(5 0l at 100,000 7 2 A+ 12& 8,400
== 5,000 x6H x12& 360

204 A=A 45,600 49,800 24,200

01 Mg HRHEH| 45,600 49,800 24,200
DA HE 650,000& = 12& 7,800
Oggs M2 350,000 9 = 12& 37,800
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